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UNIVERSITY OF NORTH BENGAL 

B.Sc. General Part-II Examination, 2021 

CHEMISTRY 

PAPER-V 
 

Time Allotted: 2 Hours Full Marks: 45 

ASSIGNMENT 
The figures in the margin indicate full marks. 

 All symbols are of usual significance. 

 GROUP-A  

িবভাগ-ক 

(INORGANIC) 

 Answer any one question
েয-েকান একিট  pেűর উtর দাও 

15×1 = 15

1.  (a) Write down the differences between double salt and complex compound. 
ডাব ্  ল সl এবং কম ্  েpk েযৗেগর মেধ° পাথ�ক° েলখ।  

2

(b) State and explain Werner’s theory with suitable examples. 
ওয়ান�ার তেttর িববৃিত এবং ব°াখ°া দাও। 

4

(c) Define ligand and coordination number. 
িলগাn এবং েকাওিড�েনশন নাmার-এর সংjা দাও। 

2

(d) Give one example each of tridentate and tetradentate ligands. 
¹াইেডেnট এবং েট¹ােডেnট িলগাn-এর উদাহরণ দাও। 

2

(e) What is standard deviation? 
s°াnাড� েডিভেয়শন িক ? 

2

(f) What is meant by the chelate effect? Give an example. 
িকেলট এেফk িক ? ব°াখ°া দাও। 

3

  

2.  (a) What are ambidentate ligands? Give examples. 
অ°ািmেডেnট িলগাn িক ? ব°াখ°া দাও, উদাহরণ-এর সিহত। 

2
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(b) Write down the IUPAC name of the following complex compounds: 
 (i) 33]Cl[Co(en)   (ii) ][Co(CN)])[Cr(NH 663  

িনmিলিখত কমেpkgিলর IUPAC নাম েলখঃ 
 (i) 33]Cl[Co(en)   (ii) ][Co(CN)])[Cr(NH 663  

2

(c) How many isomers are possible for ]Cl[Co(en) 22 ? Draw the structures. Which 
of them is optically active and why? 

]Cl[Co(en) 22  কমেpk-এর কতgিল আইেসামার সmব ? তােদর sাকচার েলখ। এেদর মেধ° 
েকানgিল অিpক°ালী সিkয় এবং েকন ? 

3

(d) Explain the terms mean, median and mode. 
িমন, িমিডয়ান এবং েমাড ্  এই িতনিট শেbর সmেn ব°াখ°া কর। 

3

(e) Discuss the principles of 722
2 OCrK-Fe  titration. 

722
2 OCrK-Fe টাইে¹শন-এর নীিতgিল েলখ। 

4

(f) Give an example of innermetallic complex of first order. 
ইনারেমটািলক কমেpk-এর pথম অড�ার-এর উদাহরণ দাও। 

1

  

 GROUP-B 

িবভাগ-খ 

(PHYSICAL) 

 Answer any two questions 
েয-েকান dিট  pেűর উtর দাও 

15×2 = 30

3.  (a) What is meant by buffer solution? Explain the mechanism of buffer action by 
taking the example of CH3COOH and CH3COONa. 

বাফার dবণ বলেত িক েবাঝ ? CH3CO2H এবং CH3CO2Na-এর উদাহরণ িনেয় বাফার অ°াকশ ্ ন 
ব°াখ°া কর। 

1+2

(b) Derive Henderson equation. 

েহnারসন সমীকরণ িডরাইভ কর। 

3

(c) Find out pH of 0.02 (M) CH3COOH when it is 5% dissociated. 

0.02 (M) CH3CO2H যখন 5% িডেশািসেয়েটট অবsায়, তখন েসই dবেণর pH কত ? 

2

(d) What are advantages and disadvantages of conductometric titration over ordinary 
volumetric titration? 

কnােkােমি¹ক এবং সাধারণ ভলুেমি¹ক টাইে¹শেনর সুিবধা এবং অসুিবধাgিল িক িক ? 

2+2

(e) State and explain Kohlrausch law of independent migration of ions. Give its 
application. 

‘‘েকাহল�াউসচ ্  ল ্  অফ ইনিডেপন েডn মাইেgশন  ্ অফ আয়ন’’ — িববৃত কর এবং ব°াখ°া দাও। এিটর 
pেয়াগ সmেn েলখ। 

3
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4.  (a) What do you mean by rate of a reaction in chemical kinetics? How is it 
expressed? What is the unit of rate constant for a nth order reaction? 
েকান একিট িবিkয়ার েরট ্  বলেত িক েবাঝ ? এিট িকভােব pকাশ করা হয় ? একিট nth অড�ার 
িবিkয়ার েরট ্  কনs°াn েলখ। 

2+1+1

(b) A first order reaction is 25% complete at the end of 20 minutes. How long will it 
take to complete 75%? 
একিট pথম অড�ার িবিkয়া 25% সmূণ� হয় 20 িমিনেট। 75% সmূণ� হেত িবিkয়ািটর কত সময় 
লাগেব ? 

3

(c) Explain in brief fluorescence and phosphorescence. 
lেরােসনস এবং ফসেফােরােসনস ্  -এর সmেn সংিkp িববরণ দাও। 

4

(d) High molecularity reactions are rare. Explain.  
‘হাই মিলিকউলিরিট’ িবিkয়াgিল খুবই কম সmাবনা সmn, ব°াখ°া কর। 

2

(e) Discuss the dependence of temperature of the rate of reaction. 
একিট িবিkয়ার েরট-এর উপর তাপমাtার pভাব সmেn আেলাচনা কর। 

2

  

5.  (a) Define standard E.M.F of cell. Give its relationship with equilibrium constant of a 
cell reaction. 
‘‘s°াnাড� ই.এম.এফ অফ েসল’’-এর সংjা দাও। ইkিয়িলিbয়াম rবেকর সিহত এই িবিkয়ার 
সmক� েলখ। 

2+1

(b) Represent the cells corresponding to the following reactions indicating which is 
anode and which is cathode. 
(i) Ag + Fe3+ = Ag+ + Fe2+ 
(ii) Zn + 2Ag+ = Zn2+ + 2Ag+ 
(iii) Cd + 2AgCl = CdCl2 + 2Ag 
িনmিলিখত েসল  ্ িবিkয়াgিল েকান  ্  িট ক°ােথাড এবং েকান  ্  িট অ°ােনাড িবিkয়ােক িরেpেজn কের তা 
েভেঙ েলখ। 
(i) Ag + Fe3+ = Ag+ + Fe2+ 
(ii) Zn + 2Ag+ = Zn2+ + 2Ag+ 
(iii) Cd + 2AgCl = CdCl2 + 2Ag 

2×3

(c) What are Lyophilic and Lyophobic Colloids? 
লােয়ািফিলক  ্ এবং লােয়ােফািবক েকােলােয়াড ্  িক ? 

3

(d) Distinguish between Physical and Chemical adsorption. 
িফিজক°াল এবং েকিমক°াল েশাষণ-এর মেধ° পাথ�ক° েলখ। 

3

  

6. Write short notes on (any five): 

সংিkp িববরণ দাওঃ (েয-েকােনা পাঁচিট) 
3×5 = 15

  (a) Photoelectric effect. 
েফােটাইেলিkক এেফk। 

(b) Gold number. 
েগাl নাmার 
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(c) Freundlich adsorption isotherm 
েÅউnিলক ্  েশাষণ আইেসাথম� 

(d) Parallel Reactions 
সমাnরাল িবিkয়া 

(e) Arrhenius equation 
আরেহিনয়াস সমীকরণ 

(f) Lambert-Beer’s law 
‘‘ল°াmাট�-িবয়ার ল ্  ’’ 

(g) Autocatalysis. 
অেটাক°াটািলিসস। 

 
——×—— 

 


